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0.23 231 ()1000m?
0.6 /(60 34
5.6 76()56 £
0.07m?*()7cm?
356g()0. 356kg
1380m()0. 138km
1980kg()2t

3. 6m?()36dm?

800m()0. 8km 6000kg( 6. 02t 750dm? () 8m?

3. 9cm(O)4dm 0. 74kg()74g 105t 7 (170

0.6dm()7cm 3. 05t()3005kg 0. 8m()80cm

0.56m()6cm 0. 52kg()502¢g 13dm()0. 2m a
A

10. 1em(O)1m 1. 6t()4600kg 75dm()7. 5cm 13
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3. IE XS iU
(5)
DRI

10.57X10= 10.57+10= 8.59X10=

10.57 X100 = 10.57+100= 8.59-10=

10. 57X 1000 = 10. 571000 = 8. 59X 100=

EL TR

1. B P ZNEL 2. PR — /N 3R RREL,

1. 905~ 1. 905~ 1. 905~

3. 584~ 3. 584~ 3. 584~

2. 065~ 2. 065~ 2. 065~

4, 237~ 4. 237~ 4, 237~

5. 686~ 5. 686~ 5. 686~

3. 725~ 3. 725~ 3. 725~

6. 209~ 6. 209~ 6. 209~

11. 008~ 11. 008~ 11. 008~

7,592~ 7,592~ 7,592~

8. 063~ 8. 063~ 8. 063~

9,527~ 9. 527~ 9. 527~
A 21636~ 21. 636~ 21. 636~
T 65. 445~ 65. 445~ 65. 445~

HRRAERE RKR—AH0imma, —HA“waL2:EN" %,



111111111111111111111111111111111111111111111111

3. KD K S SN
(6)
CaRAING
PR 88— /NEL,
0. 95= 3. 66 6. 37
10. 37~ 0.97= 16. 52=
8. 94~ 5.08= 31. 78=
CBEGY

(L NNTTE S G G D ST AN B SR VA UE - 88

2. PR — /N

850000= ( il 950087000 = ( ML 2460 K=~( ) Tk

203500 = ( i} 1800000000 = ( M 375200 KA ( ) JT oK
4730058 = ( il 276300520 = ( ML 5000375200 K== ( MK
50360=( Vil 1230050040 = ( M 35700080 K== ( )Tk
98327=( Vi 7500325700=( ML 35700080 K== ( ) 1K
10958=( )T 5600000000 = ( Mz 35700080 K== ( Mk
88643 =( i} 8654230000 = ( Mz 600050070 K== ( ) Tk
67932=( il 953700000 = ( ML 600050070 k== ( ) 1K
85761 =( il 8965000000 = ( ML 600050070 K== ( MK
450329 = ( il 543000000 = ( ML 6735003 K== ( ) Tk
8867520=( il 683200000= ( Me 673500 K== ( )T K
572436=( Vil 7895000000 = ( ML 752003800 K== ( WS ;\
600500=( Vil 590032000= ( e 752003800 K== ( MK jS
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“ ”
=",



> ohge .
&@Lﬁfﬂ 3545 S AN

Lol S S S S S S o S

A

A
16

[

3. B KS Sih U
(7)

CARAI NG
13 B P/ INER
1.776= 5. 605~ 3.057=
2.099~ 3. 749~ 5. 896~
4. 084=~ 4. 852~ 6. 064~

ET PR

L A5 K00R B R RL

1. 75X 10~

3810~

2.66X10~

0. 437 X100~

2710~

3.52X10=

0.524 X100~

19-=-10=~

2.93X 10~

15.9-+10=

2.994 X100~

0. 147 X100~

2.53X10~~=

2. 1R EAR B — L/ NEL
1. 668 X 10~
52.5+—10=
1. 994 X 10=
0. 157X 10
23.5+—10=
0.032X10~~
10.5+10=
0.456 X 10~
4. 6+10=
0.335X10==
17. 2—-10=
2.495X 10~

20.1+10=~

3. RO B LN
3.27+10~
11.5+100~
20. 9100~
0.4594 X 10~
5.49+10~
1. 3759 X 10~
12. 7100~
2.5592X 10~
10. 3100~
6.55+ 10~
21. 7100~
59. 9100~

3.34—10~

HRAR MmAAAN TR ELZ Wyt AL 10,



3. NS SiR U E
(8)
LA
2.370)2 10.01()10 22.77()22
2.3703 10.01()11 22.77()23
2.37()2.4 10.01()10.1 22.77()22.7
BESB3
LT, AR B R s, 2. S,
0. 65X 10=( ) ( ) 55720=( il
12.03X10=( ) A ( ) 957000000 = ( e
3.059X100=( ) A ( ) 123000000= ( e
266+10=( )& ( ) 12770000= ( ) Ji
14+10=( P ) 7400000000 = ( M
4.09X10=( ) A ( ) 18500000 = ( e
5.73X10=( ) == ( ) 23000000= ( il
0.075X100=( I ) 480000000 = ( ML
22.3+10=( ¢ ) 886500000 = ( il
4.17X10=( ) A= ( ) 110100000 = ( M
6.074>X100=( )= ( ) 20160000 = ( )i
12.55X10=( )&= ( ) 353600000 = ( ML ;\
128+10=( )= ( ) 7863000=( Vil j7
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3.0 KS Sl E
(9)
LRELE

PR B — /N

1. 57= 12. 62~ 5. 24==

2. 647~ 10, 55= 6. 38~

3.959= 11. 73= 7,85

BEHB3

1. PRE WAL 2. K = ANV 3. EHE /N =N

9.6256=~ ( )&=9. 57 ( )=~=9, 57

9.623= ( )&=3. 26 ( )A=3. 26

8.337= ( )==5, 22 ( )5, 22

8. 333~ ( )==0, 23 ( )&=0. 23

6.5656~~ ( )=2=1. 40 ( )&=1. 40

6.562~~ ( )~=2.59 ( )=~=2.59

5. 427~ ( )==3. 30 ( )==3. 30

5.421= ( )==10. 03 ( )==10.03

3.459=~ ( )==8. 52 ( )~=8. 52

3. 454~ ( )~=5. 77 ( Y&5. 77

12. 027== ( )6, 64 ( )26, 64
A 12. 022~ ( )&5. 25 ( Y&5. 25
1E 7.549=~ ( )A=4, 05 ( Ya24, 05

HRAR AFEH P REMEn, A& n 3 — &Rk Bk,



0.25X10=

0.25X100=

0.25X1000=

3. VNS SR il
(10)
CRANG
12.7+—10= 36+—10=
12. 7+=100= 36=—100=
12.7--1000= 36=—1000=
TBEHS)

JEAl T A RO B LA T L S A A B PR B — LN

A
A
19
)

15500 = ( ) i~ ( Vil 235700243 =( Me~( e
24580=( ) i~ Vil 100087542 = ( M= ( e
73255=( ) Ji=( il 695732483 = ( ML A=( e
300008 = ( ) i ( ) JT 700523824 = ( M= ( e
10237=( ) Ji A ( )T 6738245600= ( M= ( e
54325=( )T ( )T 2635400278 = ( M= ( ML
7856=C( )i~ i} 3547523169 = ( MeA=( Era
29536 = ( ) T il 52693700876 = ( Mea=( Era
543205=( ) i ( il 9354750000 = ( M= ( e
765823 = ( ) i ( ) JT 100520000 = ( == ( e
543600= ( ) T A=( )T 3800005000 = ( e~ ( ML
73520=( ) Ji A ( ] 765000000 = ( Mea=( e
58237=( ) A ( il 394700000 = ( M= ( e
HRAR H®RE—2IHEAFHAET52—00.1),
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(IEEi 3@
2.01~
13,57~
9. 8~

FES| |7 HLR PSR AR R

==
| >ros>] |
| [>12.36>] |
2054 |
. [=5.001>] |
===
==
=
| orss>| |
| [>9.98>] |
=%
==
- |>5.605>] |

==
=5
==
| [>18.99>] |
| 521> |
=s=l
| =8.02>] |
=A==
| [>10.52>] |
| uase>| |
C [>13.61>] |
| [>lss>] |
&=l

44. o=
37. 8%
29. 49~

| |<zoe<| |

| <se<| |
| |<ean<| |
| |<s.ss<| |
<< |
<0< |
<851 |
| <16.8<| |
| |<22.80<] |
<6 24| ]
| |<0.7<| ]
| |<ese<] |
| <10.5<] |
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73+—10=
73+—100=

73-—1000=

3
13 _
100

23 _
1000

101 _
1000

29 _
100
307 _
1000

89 _
100

0.009=

0.301=

0.097=

0.527=

0.75=

0.17=

0.61=

0.304=

17-=-10=
17--100=

17--1000=

2. k1.
5.70=

3.500=
45.080=
3.0900=
75.0=

12.10=
0.50=

1.600=
0.030=
40, 40=
52.100=
21.010=

0.7070=
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257()275
810()801

545()554

L. FEER/N
35.5 % ()35. 05 Kk
0.99 F3(O1.1 T
0.61 56()0.6 JG
8.56 Mi()7.99 mf
0.72 k(0.8 %k
1.26 52(01.6 7
2.95 k()3.02 Xk
1.78 73k (O1. 69 43K
5 T#()5.01 T2
6.18 J6()6. 08 JG
3.89 K (D3.9 %

A 54320539 3

22 0. 2 (0. 20 1

[

13540()1354
2789()20789

999()1000

3.87(0)3.9
8.08()8. 1
15.3()15. 29

72.4()72. 41

20092090
7851()10785

1001()101

2. 767 L EE AL

HRAR EH3F 5 AL A M, /) 237
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N

2
71 B 1=,



1.520)1
1.520)2
1.520)1.5

LSBT, FE A B — /R
0.782X10=C  H)a(
329100=C Ha~C )
21.5+10=C  H=C )
10.327X10=C )~
25.7+10=C  H=(C )
5.357X10=(  )a(
1.149X10=C(  )a(
1.8=10=C H=C )
234100=C Ha~C )
2374+1000=C  )a(
3.13+10=C  H=C )
14, 54-+10=(

)~ (

0.373X10=( )= (

BRpS5E7)
(3)
LA
10.03()10
10.03(11
10.03()10. 3
BEH
2. 7S
) 560000 = (

172400000=(

286900000 = (

) 3652000=(

7543000=(

) 2758000000=

) 596600000=(

43000=(
54320000 = (
) 6655000000 =

882736000=(

) 696850000= (

) 727187000=(

21.58()21
21.58()22

21.58()21.6

il
e
ML
) Ji
)T
C  Hfe
e
)1
) J1
C  Hfe
ML
ML
e

HRAR
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R 9« ” PAINA
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EKMR5L72)
(4)
LN
1762 fa=( ) TG 3 K 45 JHK =( IE S
360 T 55 = ( ) Iy 1 T2k 260 K= )Tk
52 p=/( )T 3E 41 126 T 58 =( ) i
BEHB
2.15 JE=( ) IE( ) i ( )53 1. 143 W= ( ) I ( ) T3
3.075 M= ) i ( ) T30 1. 143 mi=( D
5.7 TK=( ) Tk« ) K 3.72 K=( ) JHK
9.6 K=( ) K ( ) 3K 3.72 K=( ) K ( ) JE K
7.8 Tr=( ) T3 ) L 9.375 TkK=( PE S
4.8 Jt=/( ) J6( ) 9.375 Tk=( ) TR E(S
8.05 T3t =( )T ( )L 5.765 T3 =( ) T3 ( ) L
2.001 TK=( )oK ( JP/S 5.765 T3 =( ) b,
3.6 K =( ) K ( )o1K 2.06 K=( ) A ) JRLK
4,08 K= ( ) A ( ) JELK 2.06 K= ( ) JHE K
4. 035 M= ( ) i ( )T 4,03 JG=( ) IE( iy
X73M$%:< ) oK ( )oK 4.03 o= )41
2&4%7%( ¢ )T 5.357 Mi=( )T
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(42~48) (36~41) (30~35)

10 5%

TR B —Ar /e

0.485X100= 6547800~ ( )T 1. 05kg=( )g
70+100= 82305460~ ( ML 0. 56km= ( )m
4,5+100= 728000000~= ( e 56kg20g=( Ykg
12.5+10= 1858042 ( Vil 5m8em= ( )m
3.06X1000= 198500~ ( il 9765 M= ) JG
1.02X10= 186954370~ ( ML 10.6t=C Ht( )Hkg
7.112X100= 39500~ ( il 6km20m= ( )km
13.5X100= 796900002= ( e 8.25t=C Ht( )Hkg
9.55+100= 278904~ ( il 9. 5m=( )em
5.07X1000= 134607002 ( e 7.46=C HJL( A
9.6+100= 38540~ ( il 7.5m* = ( ) cm’®
0.3X100= 6964320002 ( e 68m= ( )km
9.05X1000= 1014500~ ( il 3.5m=¢( )dm
0.306+10= 5728965~ ( )T 0.26 /N Hi=( ) m?
1.02X100= 7190000002 ( ML 1048g=( kg
12.06 X 10= 99800~ ( Vil 5m8dm= ( Ym
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=G, imE

(1)
DRI
55+27= 55—27= 38+13=
43+14= 43—14= 38—13=
65+23= 65—23= 57+22=
BEHI
1.7540. 22= 1.75—0.22= 0.614+0.08=
0.84+0.13= 0.84—0.13= 8.12+1.63=
1.6240.21= 1.62—0.21= 2.79—1.53=
2.5740.32= 2.57—0.32= 9.69—1.48=
1.8540.11= 1.85—0.11= 0.73—0.41=
0.67+0.02= 0.67—0.02= 3.1740.52=
0.44-+0.13= 0.44—0.13= 3.2240.45=
1.5240. 21= 1.52—0.21= 1.7340. 14=
0.26+0.23= 0.26—0.23= 0.47—0. 26 =
4.55+1.23= 4.55—1.23= 2.56—0.52=
5.2741.02= 5.27—1.02= 0.524+0.17=
A 3.88+1.11= 3.88—1.11= 0.63—0.51=
A
ZE 4.93+1.02= 4.93—1.02= 2.62+5.11=
HFBRE &b SRR, o ML =M B TR s R EREE A,
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(2)

CREING
60—24= 100—15= 50+43=
20—7= 200—95= 20+89=
90—57= 200—155= 100+57=

BEH3)
6.0—2. 4= 13.5—2.0= 1—0.23=
6—2. 4= 13.5—2= 1.12—0.5=
3.0—1.2= 10.2—8.0= 8—0.24=
3—1.2= 10. 2—8= 11.6—7=
9.0—7.9= 7.85—7.00= 9—0.75=
9—7.9= 7.85—7= 2.35—0.5=
5.0—4.5= 4.92—0.30= 10—9. 55=
5—4.5= 4.92—0.3= 21.56—9=
10. 0—6.8= 100. 7—40. 0= 9 0.88—=
10—6. 8= 100, 7—40= 3 420, 6—
56.0—30. 5= 3.66—1.20= 1—0. 75—
56—30.5= 3.66—1.2= 1. 08—0. 5= A
§—3.3= 79.97—14= 5—0. 67— j7

111111111111111111111111
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2014300()500
201+300()600

195+298()500

5.6+5.1()10
4.7+4.90)10
15.3+15()30
14.3+14. 730
25.2+26.1()50
24. 8424.2()50
10.1+10.3()20
8.9+9.2(0)20
14.2+17.6()31
13.8-+16.8()31
12.6+12.5()24
A 11.6+11.50)24
A

28 12.1+13.20025

127+230()300
269+255()600

48744591000

5.6+14.2()20
3.7+15.3(0)20
14.8+11.2()25
16. 6+15.2()31
36. 7+15. 960
7.38+5.1()12
8.6+9.7(019

3.27+8.5()13
7.7+6.21()13
5.64+7.3()12
18.5+12.1()30
26. 4+22.8(0)50

35.54+15.7()50

154+178()300
154+178()400

630+210()800

8.345.6()15
7.4+9.2()16
5.5415.26()20
16+3.5(0)20
8.5+8.5()20
25.7+12. 640
9.3+10.7()20
6.9+6.9()14
7.5+10.1()18
15.6+15.1()30
50.4+51.2()100
38.6+39.7(080

25.4445.1()70
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3.64+0.6=

4.2—0.6=

4.2—3.6=

13.6—0.7=

13.6—7=

6.3—0.5=

6.3—0.05=

7—0.6=

7—0.06=

1.72—0. 4=

1.72—0.04=

7.85—1.3=

7.85—0.13=

5.74—3.2=

5.74—0.32=

8§—7.2=

7.840.06=

1.35+8=

1.3540.8=

1.35+0.08=

6+2.4=

6+0.24=

0.6+0.24=

0.6+2.4=

1.740.5=

1.7+5=

1.740.05=

9.34+0.7=

10—0.7=

10—9.3=

1.3640.7=

1.45—0. 8=

1.2740.07=

1.45—0.07=

3.5—1.3=

2.65—2.4=

3.6+0.17=

4.75—0. 24=

5.84+0.7=

9.31—0.6=

3.82—1.7=

9.45+0.2=

9—0.47=

HRAR # & BJUIL R, PR AT 25 RAB 2 LA N 4



.............................................................. TERHYT(R)
(5)
RS
3.440.8= 1.3—0.6= 0.742. 4=
7.540. 6= 0.940. 1= 2.5—1.3=
4.9—2.3= 3.5—1.5= 9.9—6.8=
BEHN
T HUET S ML,
| |+6.11=8.45 | ]—0.21=0.34 | JH+1.01=2.23
0.21+] ]=0.84 | |—1.22=2.57 8.1+ ]=9.8
0.34+] ]=0.95 §—|[ |=1.3 10— |=4.2
| ]4+1.05=3.47 5—|  |=2.6 | —1.42=1.42
| JHo0.11=0.78 | |—1l.4=2.5 | | +1.36=2.67
8.1+ |=9.7 | |—2.33=1.06 1.4+ ]=5
2.214+]  |=2.43 10— |=5.5 3.8—[ ]=3.6
| JHo0.5=1.7 9—[ ]=4.7 5.62+  ]=6.83
| ]+o0.01=0.96 | ]—0.7=0.8 §—[  ]=6.5
0.54+[ ]=0.77 | |—1.5=1.6 -7.2=7.2
1.23+| |=3.45 5—[ |]=2.3 5.21+[  |=5.37
X | ]+2.26=4.88 7—[ ]=3.5 46, 22=8.45
30 [ ]40.75=0.96 | ]—1.45=2.44 1.37—[  ]=o0.26
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(6)
CREIG
8X5+27= TX4+12= 2X9+11=
6X3+11= 5X6432= 4XT7420=
41X 9+420= 9X3415= 3X8+14=
BEH3)

2X2—1.3= 6X 4423, 5= 6X4—23. 5=
3X2—2.7= 5X 5422, 2= 5X5—22. 2=
2X4—3.6= 8X 3423, 6= 8X3—23. 6=
2X5—3.9= 7TX 5431, 4= 7X5—31. 4=
3X4—11.7= 41X 8430, 3= 41X 8—30, 3=
5X3—10. 8= 6 X 7440, 6= 6X7—40. 6=
2X6—11. 4= 5X 8420, 7= 5% 8—20. 7=
3X7—20.6= TX7415.8= 7X7—15.8=
7X2—10.9= 9X5+22.3= 9X5—29. 3=
2X8—15.5= 8X8+411.5= 8X8—11.5—
6X3—16.3= 3X 9422, 4= 3% 0—929 4—
TX4—25. 7= 6X 6435, 5= 65635 5— A

: A
4X5—19. 6= 9X10410. 9= 0% 10— 10. 9— jl
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(7)
TR
23+7+10= 25—15—8= 6+34—20=
9421+22= 82—40—2= 35—5-+29=
16+14+61= 39—9—10= 90—65+5=
Nk BE

7.23+40.4= 7.63+3.18= 7.2340.4+3.18=
2—0.6= 1.4—0.15= 2—0.6—0.15=
4.740.5= 5.240.34= 4,740.540.34=
8.5—2.6= 5.9-40.2= 8.5—2.6+0.2=
3.4+4.3= 7.7—0.5= 3.444.3—0.5=
0.740.9= 1.6—0.02= 0.7+0.9—0.02=
2.36+2.3= 4.66—0.25= 2.364+2.3—0.25=
9.9—9= 0.9-40.1= 9. 9—9-40. 1=
5.28—0. 28= 540.89= 5.28—0.28+0.89=
1.2—0.9= 0.340.8= 1.2—0.940. 8=
5—14. 8= 0.240.79= 54 840 79—

A 6.3+4.52= 10.82—5. 6= 6. 304 595 G—

A 344, .

32 1,59—1.39= 0.240.77= 1. 59—1.39-L0. 77—
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124+19+8=

37+28+3=

6+55+4=

1.88+42.3+3.7=

3.284+1.89+1.72=

8.3+6.8+1.7=

2.3640.45+0.04=

1.5+4.940.5=

2.840.94+44. 2=

0.34+0.25+0. 26=

6.43+0.75+0.57=

0.4+0.784+0.22=

0.07+3.29+0.93=

2.2+0.8840.8=

0.46+0.4+7.6=

0.63+3.84+8.16=

56 +15+5=

474+29+11=

75+33+7=

1.440.740.6=

0.3640.9+1.64=

5.6+2.7+4. 6=

7.45+1.840.2=

3.4+2.16+0. 6=

0.4+7.3+2.7=

0.3+2.9+3. 1=

1.9+3.45+0. 1=

1.37+3.3+3.7=

2.5+2.6+2.5=

8.7+2.5+1.3=

9.14+0.9+1.4=

7.64+0.7+0.4=

78+59+22=

34+67+66=

23+65+35=

3.2+0.8+1.2=

0.5+0.7840.22=

9.9+0.17+0. 1=

184-2.8+7.2=

5.2+1.4+2.8=

9.447.5+0.6=

3.6+0.94+40.06=

5.14+3.9+0.1=

3.8+2.7+4.3=

0.36+0.9+1.64=

2.25+3.840.2=

0.3+2.9+3. 1=

1.88+2.3+3.7=

33
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(9)
TR
78—9—11= 47— (18+12)= 8.5—5=
85—17—13= 65— (27+13) = 8.5—8=
53—24—6= 81— (16-+4)= 8.5—0.5=
a-Ed Pk
8.5—2.6—0.4= 8.5—(2.6+0.4)= 7.4—0.24—1.76=
10—3.5—2.5= 10—(3.54+2.5) = 4.5—1.67—1.33=
9.71—0.9—0. 1= 9.71—(0.9+0. D= 4,.7—2.1—0.9=
5.5—0.65—0.35= 5.5—(0.6540.35)= 3—2.36—0.64=
1.8—0.08—0.92= 1.8—(0.0840.92) = 4.9—3.25—0.75=
8.7—2.6—0.4= 8.7—(2.640.4)= 3.69—0.12—0. 88=
3.67—2.8—0.2= 3.67—(2.840.2)= 8.4—0.3—0.7=
1.7—0.4—0.6= 1.7—(0.440.6)= 13.2—1.4—1.6=
3.8—1.7—0.3= 3.8—(1.7+0.3) = 28.4—3.7—4.3=
4.5—2.6—0.4= 4.5—(2.640.4)= 10.5—2.8—2.2=
4—2.8—1.2= 4—(2.841.2)= 6.6—3.7—0.3=
A 1.2—0.9—0.1= 1.2—(0.940. D= 7.6—3.7—1.3=
A
34 8.3—0.9—1.1= 8.3—(0.9+1. 1= 9.4—3.7—3.3=
HRRAR AZATEMAN.IHERERARELAT ALK B2 EE RO HK
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(10)

= LUN =
0.640.3= 0.78—0.52= 0.8—0.3=
8§.7—2.6= 4,54+2.3= 0.27+0.32=
9.5—3.4= 3.2+6.7= 0.15+0. 34=

B EH
1.02+2.13+0.98= 2.13—(1.02+0.98)= 9—1.26—1.74=
0.24+3.15+1.76= 3.15—1.76—0. 24= 8.23+1.17+0.83=
5.43+2.25+1.75= 5.43—2.25—1.75= 6.72—5.02—0.6=
1.58+3.37+1.42= 3.37—1.58—1.42= 10.22+40.78+5.21=
6.83+1.02+0.98= 6.83—1.02—0.98= 10—3.71—2.29=
7.52+2.33+3.67= 7.52—2.33—3.67= 5.67—1.22—0.78=
8.64+1.35+2.65= 8.64—(1.354+2.65)= g 2441 3541 76—
7.67+2.09+2.91= 7.67—2.09—2.91= 3.834+2.65+1.35=
3.1642.54+0. 46= 3.16—2.54—0.46= 7 4d—1.65—2. 35—
15.342. 7143, 29= 15.3—2.71—3. 29= 8 951 95—0.5—
9. 442,622, 38= 9.4—2.62—2.38= 9. 7341, 510, 27 =
5.92+1. 1842, 82= 5.92—1.18—2. 82= 8 661, 4410, 34— A
9.3741.564+0. 44= 9.37—1.56—0. 44= 7 47— 38—3. 67— 35
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4.6—2.6+2.71=

7.22+0.840.78=

(11)
TR

1.5+0.6= 1.5—0.6= 0.75+0.21=

0.34-40.12= 0.34—0.12= 0.75—0.21=

2.434+1.01= 2.43—1.01= 1.84—1.52=
BEH3)

5—3.5—0.7= 0.16+3.4—1.01= 3.2+4.5+6. 8=

3.62+1.35-+0. 38= 7.26—0.05+1.1= 8.7—6.4—1.6=

20—15.8—3. 1= 7T—2.4—2.6= 5—(1.1+2.7)=

1.340.61+0.08= 6.13+0.1—6= 6—3.4—1.5=

4,02-+3.5+0.98= 5.9—1.4—1.6= 5.1842.01+0. 3=

6.6+3.7+3.3=

2.9340.65—1.93= 2.65+0.27+0.35= 10.5—2.71—2.29=

3.7+0.97—2.7= 5.444-2.640.56= 8.52+0.11+1.23=

3.94+3.9+6. 1= 10—(5.1+2.3)= 7.444-0.23+0.56=

1.6—0.84+0.4= 10—5.2—4.8= 0.27+1.4540.55+1.73=

4.52—0.52+0.7= 1.5+43.27+2.5= 8.1+2.7540.25+1.9=

A 2.7TH4.5+2.3= 7—3.6—0.4= 3.24+4.88+2.8+1.12=
A
36 1.26—0.71—0.29= 8.5—2.5—2.5= 5.7142.31+2.69+2. 29=

[
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®IBE>)(1)

- O BT 4
o ” ..\.:"y‘-r ﬁ‘fa’!ge;g ........ asmerens u-----“’""""'. ------- LM W srnassnnnnns P i o :‘;
% esnseees JIAONIJUEZHAO "‘...

JE— N R iE P E A RIL0.9.0.99.0.999.9.9.99, 9eeseen XA

— R R AR RARE L FENE LRI CMNHELT 1,10
100 FH A BEM e R mib AL RITEL T H12,

4o, 0.9+3.12 9.9499.9
=1+3.12—0.1 =10+100—0.1X2
=4.12—0.1 =110—0.2
=4.02 =109.8
A FRIR R H .
0.9+0.76= 0.4440.99= 0.9840.24=
0.99+40.82= 0.7440.9= 3.8+99.8=
99.9+4.7= 25.3+99.9= 21.84999. 7=
9.9+40. 38= 1.354999.9= 1.096+0.998=
0.999+40.763= 1.005+0.999= 0.97+3.54=
0.9+8.8= 1.32+0.99= 0.98+1.57=
0.99+1.34= 0.86+0.9= 30.54+99.8=
99.9+2.5= 20.7+99.9= 4.94-999. 7=
9.9+40.45= 10.69+999. 9= 1.643+0.998=
0.999+0.482= 1.332+0.999= 0.97+2.88=
0.9+21.7= 60.8+99. 9= 9.74999. 7=
0.99+40.65= 24.5+999.9= 8.557+0.998= A
99.9-+35.2= 4.556+40.999= 0.97+9.53= j7
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EmR5L7)
(1)
DRI
1.7+3.2= 8.8—6.5= 0.3140.27=
0.75—0.24= 1.6+2.2= 5.8—1.5=
1.5+2.3= 4.9—2.3= 0.2140. 26=
BEHI
15.7—4. 2= 11.5—10.3= 4.8—1.5=
2.52+0.26= 6.99—2.78= 10. 6+0. 4=
2.6—2.2= 2.8+0.4= 16.3—0.7=
3.8—2.5= 5.7—1.3= 5.2+4.8=
3.23+0.25= 4.89—3.48= 10—5.5=
7.32—1.11= 2.546.21= 6.5+1.5=
4.642.35= 7.95—6.95= 8—0.37=
1.4+3.7= 6—5.1= 1.124-0.13=
1—0.77= 0.3240.23= 2.37+1.01=
7.5—0.9= 10—6. 6= 2.95—1.13=
5.0241.8= 6.95—6.82= 3.28+1.71=
A 2.7—1.8= 2—0.9= 5.44+1.52=
A
38 1.75—1.62= 0.1341.45= 2.57—1.53=
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5—1.5=

4.6+2.7=

5.61+2.8=

9.74+6.9+0.3=

8+2.45+4+2.55=

6.9+3.75+3. 1=

9.4+2.7840.6=

0.14+46.3+2.86=

5.28+7.35+4.72=

6.7+3.3+8.5=

7.6+6.85+3.15=

2.8+0.72+7.2=

8.5+4.1+5.9=

3.14+1.5+6.86=

2.75+3.8+6.2=

0.4+7.8940. 6=

10—2.9—3. 1=

7.35—0.8—1.2=

2.75—0.15—1.85=

9—3.6—1.4=

7—4.3—1.7=

0.47—3.6—1.4=

7.9—2.4—1.6=

10.5—2.7—7.3=

12.3—1.36—8.64=

0.9—1.9—3.5=

10—5.5—4.5=

3.98—1.71—1.29=

5.24—0.89—0.11=

2.7+5. 7=

10—0. 9=

7.35+0.8+2.65=

1.5+2.75+1.5=

7.85+3.6—3.6=

11.845.4—1.8=

6.5+1.6—3.5=

5.840.4—5.8=

16, 7—2.57—7.43=

§—3.7—1.3=

7.845.3—5.3=

9.9+4+1.7—0.7=

5.34+2.67+1.33=

7.5+2.8—2.5=

1.75+8.39—2.39=
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B i DEHEEH N
S ) #OA B KB AT A
(42~48) (36~41) (30~35)
10 2%
4.8+2.3= 1.5+4.2—0.23= 10—0.35—0.65=
4.7+6.2= 2.3+0.7+1.8= 2.84+0.9+4. 2=
3.7—0.07= 5.2—4.2+3.07= 2.8+ (1.64+7.2)=
1.6240. 38= 10—3.5+5.5= 0.34+40.25+0.26=
8.6—3.1= 9.06—4.06+2.4= 3.28—2.4+1.72=
1.7343.2= 8.54+0.4+1.1= 24.84-0.32+4. 2=
2.65+0.05= 2.75+2.25—5= 1—0.27—0.73=
10.3+5. 2= 5.7—(3.8—2.4)= 1.5+4.2+0.5=
1.03—0.9= 3.84+8.1640.63= 54— (2 541 4) —
12. 440.37= 45.2—(7.9—5.9) = 0.844-2.540.16=
4.83—2.53= 2.73—0.63—0.1= 7.69—5.84+1.31=
10—4. 3= 7.2+2.8—4.9= 17—3.64—5. 36=
2.8 1.5= 3.28+1.72+1.89= 6. 4310, 75-10. 57—
3.46-40. 54— 2. 442,645, 9= 17 14—10-L2. 86—
A 75F0.15= 5.9—3.940.75= 8 5—0.24—1. 76—
40 6.8—0. 32= 4.7—2.7—0.9= 5 89498 2— 2 82—

[
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